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Show your working clearly in the space provided for each question and write your answers in 
the spaces provided. 
 
   

6. Difference in sale price between apples and oranges = $315 - $225 = 90 
 Difference in cost between one apple and orange = $0.20 
 
 Number of oranges = 90 ÷ 0.20 = 450 
  
 
  
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Ans:  450 
 

 
7. Ratio between number of Dawn’s stickers vs number of Evelyn’s stickes  
 1 : 4    3 : 12   3u : 12u 

 After Dawn and Evelyn gave away 
1
3
  and 

3
4
  of their stickers respectively, 

 Number of stickers Dawn has left = 3u – 1u = 2u 
 

Number of stickers Evelyn has left = 12u – 9u =  3u 
 
2u + 3u = 90 
5u = 90 
u = 90 ÷ 5 = 18 

  
 Number of stickers they had at first = 3u + 12u = 15u = 15 x 18 = 270 
 

Ans:  270 stickers 
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8. Total mass of 8 baskets = 23 x 8 = 184 kg 
 
 Let n = number of fruit baskets added 
  
 Mass of additional fruit baskets = 20.4 x n 
  
 Total mass after adding additional baskets =  

(8 + n) x 22 = 184 + 20.4n 
 
176 + 22n = 184 + 20.4n 
22n – 20.4n = 184 – 176 
1.6n = 8 
n = 8 ÷ 1.6 = 5 

  
 Number of additional fruit baskets = 5 
  
 
 
 
 

Ans: 5 baskets 
 

 

9. As AD is parallel to BC 
  

∠DAB = 47 + 90 = 137° 
  

 ∠EAB = 137 – 25 = 112° 
 

 △ABE is an isosceles triangle where AEB = ABE 
 
 X = (180 – 112) ÷ 2 = 34°   
 
 
 
 
 
 
 
 
 
 
 

Ans:  34°   
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10. radius = 6 cm 

 Perimeter of 3 quadrants = 
3
4
  x π x 6 x 2 = 9π cm 

 Perimeter of jagged edge = 4 x 6 = 24 cm 
 
 Total perimeter = 9 x 3.142 + 24 = 52.274 ≈ 52.27 cm 
 
 
 
 
 
 
 
 
 
 
 
 
 

Ans: 52.27 cm 
 

 

11. a) 
Let amount his sister had left = u 

 Amount Amos had left = 2u 
 
 75%  2u 

 100%  100 ÷ 75 x 2u = 
8
3
 u = amount Amos had at first 

 30%  u  

 100%  100 ÷ 30 x u = 
10
3

 u = amount his sister had at first 

  

 
8
3
 u  + 

10
3

 u = 1674 

 6u = 1674 
 u = 1674 ÷ 6 = 279 

 
 Amount Amos has in the end = 2u = 2 x 279 = $558 

 
 b) 
 Percentage decrease = (6u – 3u) ÷ 6u = 50% 

Ans:  (a) $558 

         (b) 50% 
:  
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12. Ratio of number of durian, chocolate and strawberry puffs  3u : 4u : 2u 
 Ratio of total cost of durian, chocolate and strawberry puff  
 3u x 5 : 4u x 3 : 2u x 4  15u : 12u : 8u 
 
 15u + 12u + 8u = 560 
 35u = 560  
 u = 560 ÷ 35 = 16 
 
 Sale of durian puffs = 15u = 15 x 16 = $240 
 
 
 
 
 
 

Ans:  $240 

 
 

 
13. a) 

Volume of container P = 10 x 30 x 25 + 60 x 12 x 25 = 25,500 cm3 
 
 b) 

Volume of bottom part of container Q = 60 x 15 x 25 = 22,500 cm3 
 
 Volume of top part of container Q = 25,500 – 22,500 = 3000 cm3 
 
 Height of water in top part of container Q = 3000 ÷ (10 x 25) = 12 cm 
 
 Total height of water in container Q = 12 + 15 = 27 cm  
 
 
 
 
 
 
 
 
 
 

Ans:  (a) 25,500 cm3 

         (b) 27 cm 
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14. Let number of boys = u 
 Number of girls = 40 – u 
  
 Number of bags distributed by boys = 4u 
 Number of bags distributed by girls = 3 x (40 – u) = 120 – 3u 
 
 Difference in bags distributed = 4u – (120 – 3u) = 7u – 120 = 62 
 7u = 62 + 120 = 182 
 u = 26 
 Number of boys =26 
 
         Ans:  26 boys 
 
 
 
 
 
 
 
 

 
15. Number of seconds for Sam to swim one length of the pool = 30 ÷ 1 = 30s 
 Number of seconds for Ben to swim one length of the pool = 30 ÷ 0.6 = 50s 
 
 Number of laps Sam swim in 600 secs (10 mins) = 600 ÷ 30 = 20 laps 

Number of laps Ben swim in 600 secs (10 mins) = 600 ÷ 50 = 12 laps 
 
The faster swimmer met slower swimmer exactly once per lap,  

 While slower swimmer met faster swimmer once or twice per lap, that is not exact. 
 
 Therefore number of times they met = 20  
 
 
 
 
 
 
         Ans: 20 
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16. a) 
  

 
 
b) 
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17. Let Cost of 1 eraser = u 
 Cost of 1 file = 2u 
 Cost of 5 files and 10 erasers = 5 x 2u + 10 x u = 20u 
 25% of Elle’s money = 20u 
 
 40% of 75% Elle’s money = 30% 
 30% of Elle’s money = 30 ÷ 25 x 20u =  24u 
 
 Number of erasers she bought with 24u = 24u ÷ u = 24 
 
 Total number of erasers bought = 10 + 24 = 34 

 

Ans:  34 erasers 

 
 

 
 


